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(Fill-in all the blanks!)
Name:_______________________________
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Riddle 37
Why did the

horse sneeze?

What to De

Answer each question about the graph. Then use the
Decoder to solve the riddle by filling i the blanks at
the bottom of the page.

@ Which is the tallest bar on the graph?
@ Which is the shortest bar on the graph?
© Howtallisbar 17 ____

@ How much taller is bar 5 than bar 47 _____
© How much shorter is bar 4 than bar 22
@ Howtallisbar8?

@ Which bar is taller: bar 1 orbar 72 ____

© Which bar is shorter: bar 2 orbar 37
© Which bar is twice the size of bar 17

@ How many of bar 4 would equal bar 82
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